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Time : Three hours , Maximum : 75 marks
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10.

11.

12.

SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.

What is meant by fixed working capital?

Blevavwirar pevLpepm (PSS eTaTLgem GlLmmeT ereien ?

What is working capital life cycle?

BePL(penD (POSET UTDEMS SHLPHS eremmméd ereman ?

Write a short note on matching approach of financing current
assets.

sHGummsw Gersgserse HEuallugpster e @umpaLL
Qummss @m dn GHlou ausmtiser.

How to calculate current assets turnover ratio?

shCunmwgw  Getsgisseidr  eumeums alflsgeng  ereuaump
seanrs Sl (Heug 2 ' :

Give the meaning of cash budget. :
Qrmés eurey - Qeaway S L sden (LLdgl) urmeaners &ms.
What do you understand by cash management?
Gymés Goareamew uphl Srusdr oifleus wirg ?
Explain the meaning of lock-box system.

LU Quiy sieoifer Qurmaner oflerd@s.
What is credit policy?

SL_6ir Qasrrehcma;l GTEITDITE) GTEHTET ?

What is meant by receivables management?
Qumged Cueremenn eTemmred ereme ?

Give the meaning of FSN analysis.

FSN u@tiumie eretugen Qurmaienar gms.
What do you understand by inventofy?'

#15@ Uy uph Frisdr oifibg Qsrareug wng ?
Write a short note on Danger level.

SiuTw Hlaw upd @m Ao GHlumu ags.



13.

14.

15.

16.

SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Discuss the importance of working capital management in a
firm. -

@ = Bpaasdla  paLgpomp  cpoger  Guerameanoudenr
WéHwussasms Lnd edleird.

What are the sources of working capital?

B (penD (PSET HEssrar <, ryhiseT wreame ?

Explain the various techniques used in inventory management.
Fr&@ Coeorarewudd uvwau@ssuubn woGaun HLULBISMmET
ellaTs s, '

Rose Ltd. is engaged in customeér retailing. You are required to
estimate its working capital requirements from the following
data: '

Projected annual sales — Rs. 9,00,000.
Percentage of net profit of cost on sales — 20%
Average credit allowed to debtors = 1 month.
Average credit allowed by creditors ~ 2 months.
Average stock carrying

(in terms of sales requirements) — 3% months.

Add 10% to allow for contingencies.

Gume MA@ eumgdeswmeri  Howep  aflpuearudien
mrhulbearergl. emeu@md  greyseldlphg  Siger  Cewdur’ @
epgars Gsaeusamer Briger LG Ceuam@ib.

B nuc e aumlmpdly eflpuener - em. 9,00,000.
aflpueear Gewaild sy @earugsder - 20%
FHeIGLD C ' ' '
asl_mrrerﬂa;@é;@ c"){@]m'ac,]é;asuul‘_l_ —  @(h LIS

gyrefl &6

SL_aibOH TSI SHeHesiiu L — @y Wrshiger.
grnefl $il_en ‘ : ;

srref spadmuy eaufmuy
(fpuenar Coameusater igliepLulled) — 3% WISRISET

sharalls Geudsamer aindss 10% Carssab.
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Calculate for each component :

(a) Reorder level

(b) Minimum level

(¢) Maximum levél

(d) Average stock level

A wppn s B gdu @ren®  smmsdr  Gemeugmon
vweTuRss iU Sermen. : '
FTgmran UwerLm® eunysdih@ sem 50 &w@esérr

GphsuLE LweTuTh umrsSH@& 25 S @seT

Sflaulsorar LU aumrsHb@ sor 75 D @se
ygeman 2emaf A : 300 SGsdr, B = 500 sie@ser
pipma sreb A ;4 P& 6 eumriuger B : 2 apged 4 QJI'FIJTEJSG?T-
@eUGleuU(h SamIFEETILD SaTsE (HRISET :

(Sl) by Haoew . '

(<) G@DESULE Hlane

@) agﬁ]a;ui'_& Hlenew .

(m)  syrefl sg&fmuy Hleve
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17.

18.

From the following information prepare a cash budget for
June 2008.

Rs.
Cash in hand on 1.6.2008 20,000
Cash purchases for June 2008 1,40,000
Cash sales for June 2008 2,00,000
Office expenses for June 2008 6,000
Interest payable in June 2008 2,000
Purchase of office furniture in June 2008 5,000

Gereumd — ssaudseafladmhpg  gdar 2008 -  ssmer  Qurés
arel-Gewe] S Lsams (UL QL) swrféseb.
€.

@& Qrrésd 1.6.2008 ey 20,000
1.6.2008 ey Cyrés Qamerupsad 1,40,000
96 2008 et Qyrés efHueer 2,00,000
g@gm 2008 em Selad Gewey 6,000
796 2008 et UL ly HHSS) 2,000
3961 2008 BTy SiMPsET CETETIPSH CFLIFE 5,000

Sen & Co. sells goods for cash as well as on credit. The following
particulars are extracted from their books of accounts for the
year ended 31st Dec 1995.

Rs.
Total gross sales (inclﬁding cash sales Rs. 20,000) | 1,00,000
Sales Return 7,000
Total Debtors as on 31.12.95 9,000
Bills Receivable as on 31.12.95 2,000
Provision for doubtful debts as on 31.12.95 1,000
Total creditors as on 31.12.95 10,000

Calculate the average collection period of debtors in days.
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Qeenr e Car  Qyrésnrseyd, sLE@IESTSeD CUTHLSMET
Apfpgl. 1gebuT, 31 1995 Q&  (PREUDMLHS eI DETET
Sjeuiigafien  saumdEL Lsssnsaiadlmbg Wemeumbd &9l 6U JIRISET

WN$QsHEsILL HeTere.
-
Qurgswrar Qorgs edpumen (Ayrss edpLiear ¢p. 20,000 2-druL) | 1,00,000
aflpuearn Flpuud 7,000
31 webur 1995 Qe Qurss sLamaflser 9,000
31 wenur 1995 @ Quush@iu jégiser 2,000
31 wewuir 1995 @é gussLds@sssma @sisSH 1,000
31 wewur 1995 @6 Qurss sLalbCamisd 10,000

19.

20.

21.

sLameflgaan srreM eu@d STOSMS ana@ﬂd) sansE (H\s.

Find out the Economic Order Quantity (EOQ) from the following
particulars :

Annual usage Rs. 1,20,000

Cost of placing and receivirig one order Rs. 60

Annual carrying cost = 10% of inventory value.
Qereupd feurmseies @mbg CUIMHETTISTT SIETe] YEnETENLIS
(EOQ) sawr_Hlwe]w.

UBLTHET LweruTH&ET . 1,20,000
R(H ApMETEN L MeULILGHED Qg@mgﬁ)@& UG QFwe] : p. 60
R@T[H &opg Ceoib GQFwe = F5&E WEHLIND 10%

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Explain the objectives of cash management.

Qrrés Cueneareawufer Crréshisman edleTsEs.

Discuss the various aspects of receivables management.

Qupssssmas Guanarawuder udGam bsbismeTy ubHl el
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23.

24.

From the following estimates, calculate the average amount of
working capital required.

p.a. Rs.
(a) Average amount locked-up in stocks :
Stock of finished goods and work-in-progress 10,000
Stock of stores, materials, ete. 8,000
"(b) Average credit given:
Local sales : 2 weeks credit 1,04,000
Sales Outside the state : 6 weeks credit . 3,12,000
(¢) Time available for payment:
For purchases : 4 weeks 78,000
For wages : 2 weeks 2,60,000

Add 10% to allow for contingencies.
Wemeupd saseuwsalall(Bhg Bl (pap posars Cgrasufeners
GasH (Hs. ,

L hEG €.

(@) sgmefl spadmuns Qgrans :

wyeypp Qurmlsefler @@y 10,000

epelummergaflen @) mLiy 8,000 -
(<) &yl sLe PRI (H STt :

2 6T ellHUenar - 2 UTTRIGET (SL6l) 1,04,000

Qeuetl wrhley elhLiener - 6 GUNTRISET (&L 6bT) 3,12,000
(@) GCegsgisedlen seuamanTd &b :

QETeTpSD — 4 UTTRISET ' 78,000

FlGET — 2 QUTTRIGET 2,60,000

sharalls e sErssns 10% @indlss 10% Gerésab.

Explain the technique of ABC analysis and its merits.

ABC u@Liunuelen B UsmsUD ST BETanDSaTLLD 6l6TsEs.
Two components ‘A’ and ‘B’ are used as follows :

Normal usage 50 units each per week

Minimum usage 25 units each per week

Maximum usage 75 units each per week

Reorder quantity A : 300 units, B : 500 units

Reorder period A : 4 to 6 weeks B : 2 to 4 weeks.
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